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Question Number : 1 Question Id : 4509386881 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The domain of the real valued function f(x) = log,logslogs(x* —5x + 11) is

f(x) = log,logslogs (x% — 5x +11) &F a0 P (D00HO Ty (HTH0

Options :
(2., o0)
1. %
(—o0, 3)



Question Number : 2 Question Id : 4509386882 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

x24+2x—15
15
2x2+13x+15

The range of the real valued function f (i) =

- 2E2F—15 o . -~ 5
flx) = —=——= &F Q3 Sres (HHano GBnEy ar5a)
2x2413x+15 g
Options:
{5 3}
~b-Bi
1. %
1
R— {—51_—}
2
2. %



Question Number : 3 Question Id : 4509386883 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
1 1 i
= : 3 po : 3 Y + ++- upto n terms =

1 1 1 e . .
T +E +—+ - (0 DT DOBY) =

913
Options :
1
in+1
1. %
4
in+1
2. #
n
4n+1
3. v
in+1
5(4n + 1)
4, %

Question Number : 4 Question Id : 4509386884 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



2 3 4
If A= [1 k 2‘ 1s singular matrix, then the quadratic equation having the roots k and oIS
4 15

2 3 4
A= [1 k 2‘ 2.8 OO0 7 @S, k HBON % DPEreNT™ e ¢
415

A TOTANNY

Options :

6x°+13x+6=20
1. #

12x%2 —25x4+12=10

2. ®

6x2—13x+6=0
3.

2xZ —Sx 4+ 2=40
4, %

Question Number : 5 Question Id : 4509386885 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Let 4 be a 4 X 4 matrix and P be its adjoint matrix. If |P| = Ig’ then |A7Y] =
4 OO 4x4 S7E8 HOON P G 4 G0E) ©HDOE SP(es RO,

Pl = | wawd j4|=

Options :



2. %
12

3. %

4w T4

Question Number : 6 Question Id : 4509386886 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The system x+2y+3z=44r+5y+3z=53x+4y+3z=1 15 consistent and

31 =n+100. thenn=

Y +2y+3z=44x+5y+3z=53x+4y+3z=14 Jansde 9390 0MaN)

BN 31 =n+ 100, WONS 2 =

Options:

— 42
1. %
~ 86

16

— 24



Question Number : 7 Question Id : 4509386887 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The complex conjugate of (4 — 3i)(2 + 3i)(1 + 4i) 1s

(4 — 31)(2 + 30)(1 + 4i) B0EY DOEY doasnisfo

Options :

7+741
1. %

—7 + 741
2. ®

—7 — 741
3.¢

7—741
4, ®

Question Number : 8 Question Id : 4509386888 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the amplitude of (Z — 2) 15 g, then the locus of Z 1s

(Z — 2) G302 305730650 = 900, Z FBEY DOCHHEGSE
2

Options :

=l g il

1. %



=gy =)

2. ¥

£ 0y=72
3. %

x ), =
4, %

Question Number : 9 Question Id : 4509386889 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

a+bw+cw? a+bw+cm2__

If w is the cube root of unity. - ==
ctawtbw btcwtaw

. atbwtcw® atbwtcw?
@ R 1 ABNEY NATO oW, + =

ctaw+bw? btcwtaw?

Options :

2

Question Number : 10 Question Id : 4509386890 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Roots of the equation a(b —c)x? +b(c—a)x +c(a—b) =0 are

a(b—c)x? 4+ b(c—a)x +c(a—Db) =0 CRO5) 0IFPET°ED

Options :
alb —c) -
cla —b)
1. %
b(c — a)
c(a—Db)’
2. %
e,
a(b —c)
3.
cla — b;) 4
b(c — a)
4, ®

Question Number : 11 Question Id : 4509386891 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If(3+i)isarootofx®?+ax+ b =0thena=

xZ +ax+b =030 2.8 0rO0 (3+1) ®ONSB q =
Options :

3

1. #®



Question Number : 12 Question Id : 4509386892 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The algebraic equation of degree 4 whose roots are the translates of the roots of the equation

4536+ 70 +9=0 by-11s

56247 +9=0 d¥d00 Sreren -1 & Srd) Todm S3)

NENIOD SAFETENT (164 85 eh5ife HBoh S&deo

Options :

¥ —3x¥+6x+4=0

1. #

x4+ 9x3 +27x2 +38x+28=0
2.

x*4+5x34+6x24+7x4+9=0
3. ®

*E - Exf i gxt - Tx49=10



Question Number : 13 Question Id : 4509386893 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the roots of the equation 4x® — 12x2 4+ 11x+m = 0 are in arithmetic progression. then m =
4¢3 - 12x% + 11x +m = 0 G305, TereN @Ogl_%{fﬁ@é JOB m =

Options:

—3

Question Number : 14 Question Id : 4509386894 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The mumber of 5 digit odd numbers greater than 40,000 that can be formed by using 3. 4. 5. 6. 7.

0 so that at least one of its digit must be repeated 1s

3, 4,567, 0 0 &0rA0D GG 40,000 $0B DEIS 5§ ®03O B

HODEOES EDN0 2,8 ©OT BONTT ST TS TR HOW;

Options :
2592
1. %
240



L]
=
L]
[ E]

-2
L]
h
[ ]

Question Number : 15 Question Id : 4509386895 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The number of ways in which 3 men and 3 women can be arranged in a row of 6 seats. such that

the first and last seats must be filled by men 1s

3 0000 0BAM 3 (RO, 6 A SO 2.8 SHNS, Ik HOCK DB

OB ey Sr(e SR Do, 8 ION dere Sops

Options:
720
1. %
36
2. %
144
3.¢
a.%x '°

Question Number : 16 Question Id : 4509386896 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If a commuttee of 10 members 1s to be formed from § men and 6 women. then the number of

different possible committees in which the men are in majority 1s

§ 008 BN SHBN 6 5H0B [NOS 10 0B H2Hgen EORS EMEID e ien
BaDSoR S0, HEDO) BB HoS GOT NSO T DG EDese
e},

Options :

931
1. %

Question Number : 17 Question Id : 4509386897 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the eleventh term in the binomial expansion of (x + @) is the geometric mean of the eighth

and twelfth terms. then the greatest term in the expansion is
b+ o T0% BN GRS 11 5 SG0, 85 HOAW 1265 A0 HEd
S350 OB, B0 & AAGE S H e
Options :
7% term

7) C5a00
1. %



8™ term

8o 0aCH5
2.
o™ term
00 2E3AD
3. ®
10 term
1063 2C3a50
4. %

Question Number : 18 Question Id : 4509386898 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The sum of the rational terms in the binomial expansion of (-v’f +3Y 5) i

(2 +3Y5) 10 G0y, 596 DTS 88809 5306 T Todesn

Options:

41
1.+

39
2. %

32
3. %

30



Question Number : 19 Question Id : 4509386899 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
1 A B x+1 C D
If = and = . then
(3x+1)(x=2) 3xtl T x—2 GrHf=2) 388 & ¥—2
1 A B x+1 C D
— = NV eleWW _ = SO,
(Gt (x—2)  3x+1 t x—2 (3x+1)(x—2)  3xtl T x—2

Options :

A+3B = 0, #:€C = 1:3; B:D = 2:3

1. %

A+38 = 0, . 4:€ = 31, B:D = 3:2
2. %

A—3B =0, A:C = 3:2, B:D = 1:3
3. %

A4+ 38 = 0, 4:¢ =32 B:B—= 173
4. &

Question Number : 20 Question Id : 4509386900 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

tan 5x cos 3x

If the period of the function f(x) = is @, then f (g) =

sin 6x

Fx) = ZROXCOSI 2038 33503050 @ NS, f (%) 2

sin 6x

Options :



| =

—1
2. ®
1
V2
3. v
1
V2
4. %

Question Number : 21 Question Id : 4509386901 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If sinx + siny = a. cosx 4+ cosy = [ then cosec(x+v)=

sinx + siny = a. cosx + cosy = f @w@i @) (R cosec(x+y) =

Options :
ﬁz j) D,E.
2442
1. % £
2af
B2 —
2. ®
ﬁZ+U2
2ap



2af

)82+U2

Question Number : 22 Question Id : 4509386902 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
= L . LAl
If PHO+R= " then cos (s P) +cos (s Q) +cos (s R)

o ff ] oo Y g E — E - E g=t =
P+Q+R_I‘ GO, €9:))CD cos (3 P) +cos (3 Q) +cos (s R)
Options :

P Q R i
dcos—C08 —C0s — — COS—
2 2 2 8

1.+

teosPocc@ s R, T
LDF:ZCG?:ZSIHz C058

L n
4sm—sin—_—sii— — €os —
2 2 8

£ R R i
4smm—cos —sm— +cos —
2 2 8

Question Number : 23 Question Id : 4509386903 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Fora € R—{0}ifacosx+asinx+a=2K + 1 has a solution, then K kes in the interval

a € R—{0}8 acosx+asinx+a=2K + 1 $O0 &0, K 503 ©06530

Options :

[n T e . A -xﬁa]

2 ' 2
1.4
a1l —+Z a¥14v2
2 ' 2
2. ®
g—=1=+2 a—1 42
2 ’ 2
3. %
(V2a2 +2a+1+1) (V2a2+2a+1-1)
Il 2 ’ 2
4, %

Question Number : 24 Question Id : 4509386904 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the general solution set of sinx +3sin3x+sin5x =0 isS. then{sina /a € §} =

sinx+3sin3x+sin5x=0 0308, e P D § WONS, {sina /a € 5} =

Options :

{1,—1,0}

1. %



|
{— = 0,1,—1}

Sl
2. #®
N —
T
2 2
3. %
g g 1 g =90
el Riadl
4. %

Question Number : 25 Question Id : 4509386905 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If 6 is an acute angle. cosh x = K and sinh x = tan 8, then sinf =

B 2,8 @0 §62.50. cosh x = K 20805 sinh x = tan § 9N, sin § =

Options:
K

KZ+1
1. %

K*+1
, x KF+2

VEKZ —1
v K



VK?Z —1

vK? +1

Question Number : 26 Question Id : 4509386906 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In a triangle. if the angles are in the ratio 3:2:1, then the ratio of its sides is

28 |B2HBSNS Q EeTen 3:2:1 AANBS &0B, T 2D B0 D)

Options :

1z2:3
1. %

2431
2.9

3:4/2:1
3. #

: w,g 3
4, %

Question Number : 27 Question Id : 4509386907 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In a triangle ABC. if BC = 5, CA =6, AB =7, then the length of the median drawn from B onto
ACs
2,8 (92930 ABC ¢ BC = 5, CA=6, AB = 7 ®008, B 00& AC DG A

NVAKITORNERIN)

Options :

5

1%

Question Number : 28 Question Id : 4509386908 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In AABC. it AB:BC:CA=6:4:5.thenR :r=

AABC i?SS AB:BC:CA=06:4:5 *&‘JD}}@S. R:r=

Options :
16:9
1. %
16:7



12:5

Question Number : 29 Question Id : 4509386909 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

a=ai+pj+ 3k. b= i+ 2k, ©=3i 12j 4 k are linearly dependent vectors and magnitude of a is

V14.Tf a. B are infegers then o +§ =

e N e R S B S R & Ty o — TR

a=ai+pj+3k, D=j+2k, c=3i42j + ko0 B0H @3S0 HO @ GE)

DOIPEI0 V14 . BN oJ°Q DODIONS o +4 =

Options:
3
1.+
=5
2. ®
3
3. %
—3
4. %

Question Number : 30 Question Id : 4509386910 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



¢ is a vector along the bisector of the internal angle between the vectors d=4i+7j — 4k and

b=121~ 3j+ 4k If the magnitude of ¢ is 3v/13 then ¢ =

¢ OO d=4+7] - 4k b=121-3j+ 4k AOFO) N3ie) 0BT DS DOCER

02 F008 o) 2,8 A0, ¢ ThE), 8570 3113 BN ¢ =

Options:

51 —8j+2V2 k

1. %

10i+4j — k
2.9

i—10j+4k
3. %

2v2i+5) — 8k
4, %

Question Number : 31 Question Id : 4509386911 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

a=i-j+ k.b=2i +i+ k ate two vectors and Cis a unit vector lying in the plane of @ and

b. If ¢ is perpendicular to b then ¢. (EH—F 21_<) =
=i-j+kb=2i+]+ke0Bokh SBFen HBAM & ©TA @ HB0 be) B0
) 28 APRE) HAY. b8 00T &0 ¢ (i+j+2k) =

=]

S

Options :

0
1. %



1
V21

=

3.¢

2z
"'\-'Iﬁ

Question Number : 32 Question Id : 4509386912 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:O0

A(1.2.1).B(2.3.2).C (3. 1. 3)and D (2. 1. 3) are the vertices of a tetrahedron. If 0 is the angle

between the faces ABC and ABD then cos 6=

A(L2.1).B(2.3.2).C(3.1,3) B0 D (2. 1. 3) &0 28 D) G 3TN, ABC

005 ABD 087 a¢35 §690 800 E cos =

Options :

2
p—*l &y
o

o
a -
=
m‘m



Question Number : 33 Question Id : 4509386913 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
ifa=i—j+k b=i+j-2k =21 -3j—k d=2i+]+k are four vectors then
(@xc) x (bxd) =
a=i—jtk b=i+j-2k c=2i-3j-k d=2i+]+ken Tenih SbHFen @and®
(@xc) x (bxd) =

Options :

21 4+19j — 11k

—8i +19j — 29k

2 +j — 11k

—8i+j — 29k
4,

Question Number : 34 Question Id : 4509386914 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Mean deviation about the mean for the following data 1s

(lass Interval 0-6 6-12 12-18 18-24 24-30

Frequency 1 2 3 2 1

1808 078 0% 500 DO NG5 DHOd0

531163 @0e5H0 0-6 | 6-12 | 12-18 18-24 | 24-30

2050 1 2 3 2 1

Options:

Question Number : 35 Question Id : 4509386915 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If 12 dice are thrown at a time. then the probability that a multiple of 3 does not appear on any

dice 18

o b o sl g
12 T80 E500S 0D, & D8 D 3 Ty hedzo N0
FT0E Ho2TSseh

Options:



1. %
3
3
2. %
(2)12
3.
(5)12
6
4. %

Question Number : 36 Question Id : 4509386916 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If a number 1s drawn at random from the set {1,3,5,7,.., 59}, then the probability that it lies in
the interval in which the function f(x) = x® — 16x% + 20x — 5 is strictly decreasing, is
{1,3,5,7, ., 59} dabed cd0ch AP yed )50 2,8 0RjR @fg & O
F(x) = 23 = 1622 + 201 = 5 (N0 DY ©SFareI0T 0T ©0SF0S
GOGEFS D0ITE

Options:

1

| =



2| =

o] =

Question Number : 37 Question Id : 4509386917 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In a class consisting of 40 boys and 30 girls. 30% of the boys and 40% of the girls are good at

Mathematics. If a student selected at random from that class is found to be a girl. then the

probability that she is not good at Mathematics is

10 06 2ren HOAD 30 08 2%y FORS 2.8 BEIRS A 2rendsS 30%
500 OEOS 4% ASS0S (Hdey. & SEB Dok aFSyd o
Doth86S D 28 wrdE o BOR, 8 ASB0S HDEVTEY SEFITE
INOTARNI(G
Options :
-

1.

SN



Question Number : 38 Question Id : 4509386918 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A basket contains 12 apples in which 3 are rotten. If 3 apples are drawn at random simultaneously

from it. then the probability of getting atmost one rotten apple 1s

2,8 MBS ) 12 6DG H0GS 3 HDodd Gy ow. R oG 2310 3 8

A

S99 OPGIDIEOT SRS, 59 NG 08 Sopg 25638 Do

GOCErRS (10 0ZTed

Options:
34
1. % "
48
55
2. v
21
514]
3. %
42
55
4. ®

Question Number : 39 Question Id : 4509386919 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

7 coins are tossed simultaneously and the number of heads turned up 1s denoted by the random

2
; ; 7. : 5 I.IG
vartable X. If 1t 15 the mean and o~ 1s the variance of X, then =

P(X=3)
T OBHOD Hs0oS HHETTD B0 SAIS T Hows AFSHDE

DOTF X ) AFDW0E. X B8y 08030 1 OO Juye o o s,

A
P(X=3)
Options :

56
5
1. %
84
B
2. ®
112
3.¢
224
5]
4, ®

Question Number : 40 Question Id : 4509386920 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



A manufacturing company noticed that 1% of its products are defective. If a dealer orders for 300

items from this company. then the probability that the number of defective items 1s atmost one 1s
28 SO N0, R Tog)y &IBS 1% SNehen SR LR &)
HBOD0A. &8 SUB & 505 HOB 300 SHOS D DAB, 5arA) FONS

IO 0 .5EE0T MODROT GRS fie) oarageh

Options :
3
)
1.8 ¢
2
e?
2. %
3
e?
3. %
4
23
4.4 €

Question Number : 41 Question Id : 4509386921 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



P is a variable point such that the distance of P from A (4.0) 1s twice the distance of P from
B (—4.0). If the line 3y — 3x — 20 = 0 intersects the locus of P at the pomts C and D. then the

distance between C and D 15

P 9% 2.8 VB0, AG0) H0& P& ey (Ao B(-4,0) h0o& P § ey (008
GOOTRD T G508, 3y — 3x — 20 = 0 ©F OB P BBy Doch ST C,
D Dothay® 56 DOBW, 89316 €, D © HS3rE0

Options :

3.¢

| o

Question Number : 42 Question Id : 4509386922 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
When the origin is shifted to (h, k) by translation of axes, the transformed equation of

x4+ 2x + 2y — 7 = 0 does not contain x term and constant term. Then (2h + k) =

570 D005 DPOBE €8 B T 5o° (b, k) B 26O BRI

Y2+ 204 2y =7 = 0 DadEGR0 GE) Graross HAEBEI0 r-NTR) HBOR V&
D), SO G0y, @) (2h + k) =



Options :

7

2
1. %

i

2
2. ®

2
3.¢

0
4. %

Question Number : 43 Question Id : 4509386923 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Let aeR. If the line (@ + 1)x + ay + @ = 1 passes through a fixed point (I, k) for all @. then

Wtk =

2eR ©eHHOTW. (@ + D+ ay + a = 1 893 AOFTD 8] ¢ O 2,8 VY

D0 (b, k) HOm 9B, 09I h? + k2 =

Options:
1. ® .
2. 2

4



|

Question Number : 44 Question Id : 4509386924 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If (a, ) s the orthocentre of the triangle with the vertices (2,2),(5,1), (4,4),thena + f =

(2,2), (5,1), (4,4) 37001 o) (B2920 G308 ©02T0|50 (a, ) ©ONS, 8:)¢h

a+f=
Options :

6
1.

5
2. %

.

2
3. %

)

2
4, ®

Question Number : 45 Question Id : 4509386925 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The area of the triangle formed by the lines represented by 3x + y + 15 = 0 and
3% + 12xy - 13y = 01is

3x+y+15 = 0 000 332 + 12xy — 13y2 = 0 SDESETeN Ir)oth TS
N3 |82 ITO50

Options:

1.+ -

Question Number : 46 Question Id : 4509386926 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If all chords of the curve 2x* — y* + 3x + 2y = 0. which subtend a right angle at the origin
always passing through the point (e, £), then (e, f) =

0)8) 200 O IET (@, f) Doca) HOT Fesr G0, ©a))¢h (o, ) =
Options:



[_3, _Zj

1.4
. G2
3. %

(—=3,2)
4. %

Question Number : 47 Question Id : 4509386927 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

2x—3y+1=0and 4x — 5y — 1 = 0 are the equations of two diameters of the circle

S=x?+y 4292+ 2fy—11=0. Q and R are the points of confact of the tangents drawn

from the point P(—2,-2) to this circle. If C is the centre of the circle § = 0. then the area (in

square units) of the quadrilateral PQCR s

20—3y+1=0 0800 4x—5y—-1=060 S=x?* +y2 + 2gx + 2fy — 11 =0 J)&0
GE) BOh TR ADEGEreD. & S9ERE P(-2,-2) Hotdey H0od A
D)0:020 )6D0HE0 0 HOAW R. D980 §=0 GE) So1¢0 ¢ WS,
POCR 608320 G308, 3F050 (5. ArdBES)

Options:
25
1. % ]
30



Question Number : 48 Question Id : 4509386928 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
If the inverse point of the point (=1, 1) with respect to the circle x* + y? = 2x + 2y -1 =01s

(p,q). then p + ¢* =
24 y2 =20 4 2y — 1= 0 B0 S9aFs. (-1,1) Doche) 0¥} DS Doy (v, 9)

QONS, p? +¢* =

Options:
1
16
1. %
i1
2. v =
1
4
3. %
1
2
4. %

Question Number : 49 Question Id : 4509386929 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If (a,b) is the midpoint of the chord 2x — y + 3 = 0 of the circle x° + v> + 6x — 4y + 4 =0,
then 2a + 3b =
a2 yR 4 6x — 4y + 4= 0 9Q0 0308 2375 2x — y + 3 = 0 B8 sC350¢0eY) (a, b)
oW, 204 3b =

Options :

il

Question Number : 50 Question Id : 4509386930 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If a direct common tangent drawn to the circles x% + y2 —6x + 4y +9 =0 and

x2+y? 4 2x = 2y +1 = 0 touches the circles at A and B. then AB =

iy -er+ay49=0 HOOW 4y +a-2y+1=0 HFoH DS o8

3638 &30 50D & SYFOD A OO B DO 3¢ 3393, AB =

Options :

L3
1. %



2. ¥
e
3 % 44/ 6
2*@%

4.

Question Number : 51 Question Id : 4509386931 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The radius of the circle which cuts the circles x2 + y2 —4x — 4y +7 =0,

4yt dx—4y+6=0andx? +y*+4x+4y+5=0 orthogonally is

Ay -4y +7=0x2 +y Hdx -4y +6 = 0000 2 +yE +4x +4y +5=0

SITOD 0T Y0 T D0 GE) arsardo

Options :

v193




Question Number : 52 Question Id : 4509386932 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The equation of the normal drawn to the parabola y? = 6x at the point (24, 12) is

y? = 6x DTRVOOTIE, (24,12) Loy ¢ AN @deroe T dabEde0

Options :

3x—y =60
1. #

4x +y = 108
2.

2x +y =60
3. %

ity
4. %

Question Number : 53 Question Id : 4509386933 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If Ay, 4,,A; are the areas of ellipse x* +4y* —4 =0, its director circle and auxiliary circle
respectively. then 4, + 4; — 4, =
Ay, Ay, Az 00 SONT 1%+ 4y% — 4 =0 BEH)DF, TR AoDE JyBer SO

DY ODE HITO STENSTS, A, + 4y — 4, =
Options :

11w

Question Number : 54 Question Id : 4509386934 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The equation of the pair of asymptotes of the hyperbola 4x% — 9y% — 24x — 36y - 36 = 0 i3
4x2 — 9y — 24x— 36y — 36 = 0 SBITHOAN0 T, B30 O)3) Dratuifo

3B0E) HadBe0

Options :
2% —xy—3y* —14x—9y—12=0

1. %

2% —xy—3y? —2x+3y=0
2. %



2%? — Bxy +3y2—22x+ 27y + 60 =0

4x? —9y? —24x — 36y =0
4, &

Question Number : 55 Question Id : 4509386935 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The equation of one of the tangents drawn from the point (0, 1) to the hyperbola

45x2 — 4y =51is

(0,1) Do <0G 4552 — 4y? = 5 OBITHONPS DS )60DOES 2,50

HaDEBEa0
Options:

4y +5=0

3x +4y—4=0

2. %

S5 —6y+6=20
3. %

9% —2y+2=0
4. &

Question Number : 56 Question Id : 4509386936 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Consider the tefrahedron with the vertices A(3,2,4), B(xy, v, 0), C(xq, v5,0), D(x3,¥5,0). If

the triangle BCD is formed by the lines y =x, x + y =6 and y = 1. then the centroid of the

tetrahedron 15
A(3,2,4),B(xy, 1, 0), €y, 15,0), D3, v5,0) BTN €ed) 9500 Sx8050.
y=1,1+7= 60000 y= 10203 |82H50 BCD 810, esdehtd Tng)
5016 270

Options :

Question Number : 57 Question Id : 4509386937 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If P (2,4, a) lies on the plane x + 2y —z— 2 = 0 and Q (a, —1, §) lies on the plane

2x —y + 3z 4 6 = 0 then the direction cosines of the line PQ are

P(2,p,a) ©R& x+ 2y —z—2 =003 Do) HOAM @ (a,-1,5) IO

2x —y 4324 6 = 000 DoHRS, PQ T GBws) B Fhen



Options :

Question Number : 58 Question Id : 4509386938 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Let m be the plane that passes through the point (=2, 1, —1) and parallel to the plane

2x —y + 2z = 0. Then the foot of perpendicular drawn from the point (1,2,1) to the plane
is

T O $00 (<2,1,-1) Doche) Hom ey 2x — y + 22 = 0 Serd8 dlroddomr
&OEDOGR BhH0T0. @ (1,2,1) Dohy Hod 1 Serdd AR

020

Options:

{(—3.—1.1)
1. %



e

(_3: 3- _]-:'
3. %

(_1: 3- _]-:'
4, &

Question Number : 59 Question Id : 4509386939 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. 5% fﬂsecfux : e
It f () = (x— 2)50596(( fixn a%l—ﬂf{'i ) =

_ Sx.cosec(yx)—1

S —r - {E:. '»J ' iy -..2 =
f () (x—2)cosec(vx) WONS, J}Elc}:f (x%)
Options :
1. % L
==
2. %
5
3.¢
-5
4. %

Question Number : 60 Question Id : 4509386940 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Vv1+4x —+3 4+ 3x

lim

x—32 _1’3 —8
Options :
72
1.+
|
> % 36
1
24
3. %
1
4 % 12

Question Number : 61 Question Id : 4509386941 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

(V2aF1+V2a—1) +(VZx+1-V2x—1) (Px*-16)

If lim = : = 1,then P=
A0 (x+vx2-2) +(x—Vx2-2)
a g
: 2x+1+y2x—1) +(V2x+1—/2x—-1) (Px*-16
lim WEHTE 1) Vit To 1) @0 18], 1 ®ond, P=

X—00 (x+Vx?=2) +(x—Vx?=2)
Options :

16



64

2. ®
1
3 % 64
1
16
4. &

Question Number : 62 Question Id : 4509386942 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

sinx

The rate of change of x with respect to (sin x)* is

(sin x)* Sal's x50 ABEy St ) D

Options :

- sinx
e (T + cos x. log 1)

(sin x)*(x.cotx + log sin x)
1. ¢

(sin x)*(x cot x + log sin x)

. sinx
b e ( —— 1 cosx. log .rc)
2. %
sin x
v + cos x.log x
X
3. %



(sin x)*(x cotx + log sin x)

Question Number : 63 Question Id : 4509386943 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

ax+f
Hy =—" theti 2y V4=
X = ¥Yi¥Vz

ax+ 5
= £ ., B0, 2y, V5 =
yx+4 he
Options:
2y,°
1. %
3y,°2
2.0 TOF
}'22
3. %
3_3"32
4. %

Question Number : 64 Question Id : 4509386944 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which one of the following 1s false?

&% (808 TBS DO ©06h§07

Options:



d
—[Sec ™ (cosh x)] = sech x
dx

1. %
d .
—[Cos™1(sech x)] = sech x
dx
2. %
— [Tan"Y(sinh x)] = sech x
dx
3. %
d s
e -1 ' .
e [T-:m (tﬂﬂ. 2)] = Sk
4.

Question Number : 65 Question Id : 4509386945 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The point which lies on the tangent drawn to the curve x*e¥ + 2,/y + 1 =3 atthe point (1.0) is

009 (1, 0) 5O S(Ban xte? +2./y +1=3 35 DD 96,09 2 60T Hocha)

Options:

(2. 6)
1. %

(2’1 _GJ
2. ®

(—2,—6)



(—2,6)

Question Number : 66 Question Id : 4509386946 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If f(x) = x*, then the interval in which f{x) decreases is

F(x) = x* @OV, fx) I TE0 OTNE0BHHB0

Options :
1
o2
e
1.4
[0, e]
2. %
[ 1
—, 00
3.% -°
[0,e°]
4, %

Question Number : 67 Question Id : 4509386947 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the Rolle’s theorem is applicable for the function f{x) defined by f(x) = x* + Px - 12 on

[0. 1], then the value of C of the Rolle’s theorem 1s
f(x) =23 4 Px—12 T AB0026N (DOERE [0, 1] @oéb03 58 5rodo
@ DH0N0D0 WONB, BB AT0SINNF 02000 € TBE) Dend

Options:

1
ey
V3

<.
WI| =

| e

'-":-\_
(4% ]

Question Number : 68 Question Id : 4509386948 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

1-tan’x

The number of all the values of x for which the function f(x) = sin x + o
anx

attains its

maximum value on [0, 2r] is

1-tanx
1+

[0,27] 2, f(x) = sinx + T 0D (fBa) dewed oGRS ey x GRE)

Q) AEVIE) NODS

Options :



1. #
0
2. %
”
3.4 ©
infinite
4w €900

Question Number : 69 Question Id : 4509386949 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Ifxe [2 nw — E, 2nm + E:TH] andn € Z, then [1—sin2x dx =

Ifxe [Zrur —E, 2nm + %] 0800 n € Z @one, [V1—sin2x dx =

Options :

—cosx+sinx+c

1. #

cosx +sinx+c
2.4

—cos x —sinx +c¢
3. %

cosx —sinx+c
4. %



Question Number : 70 Question Id : 4509386950 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
§ x4 232
J ex( +4) ¢ 5
X
Options :
xe” .
(x+472 " °
1. #
xe* M
(x +4)
2. #
xe”* "
x+4)  °©
3. %
2xe*
TEWELE
4, &

Question Number : 71 Question Id : 4509386951 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If |
I

dx = tan G +p ) + ¢, then one of the values of ;1_.5: —f1s

1-cosx

dx = tan G - 5) + ¢ ©ANS, ”Tf— B 8 (50 DenIOS 2.8 Denes

1-cosx

Options :

1.



“
n
2.
@
3. %
(8
an 4

Question Number : 72 Question Id : 4509386952 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

1

md!‘f =a+logh, thena —b =

1£729 [

1
x3(x2+9)2

729 | dx = a+logh @O, a — b =

Options :



Question Number : 73 Question Id : 4509386953 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

T

If n = 2 1s a natural number and 0 < 8 < = then

" (cos™8 — cosﬂ)lfﬂ

sinf df =
cosn+ig
n= 22835 oD HOAM 0 < 6 < % OB,

sinf d6 =

cosntig

f (cos™8 — cosﬂ)lfﬂ

Options :

I

— (cos®™g —1)%2 +¢

n
(n+1)(1—n

1
} (cost Mg — 1) 4 e

1
n—1

(cos™ Vo —1)2 +¢

T

{1 = I:.'{:,S{l—n'] g } (n+1)/n
1-n? :

Question Number : 74 Question Id : 4509386954 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

1774 274 a7

J5 =
Options :
L =
1. %
1
2. %
76
3. %
1
78
4,

Question Number : 75 Question Id : 4509386955 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
.2
- b:—ﬂ i e s 2
()= 1% =N then [ f(x) dx =
P+l - xR
EREL o o
-y _ Jax342x43 S WEE (2 fEeydy —
Fl) = eO0WE =fn Fgjile =
241, 1<x<?2
Options :
11 3—|-1[J
el



1 10
=log3——

2 3

WS
_D o I |
Foasd g

1 20
2983+

Question Number : 76 Question Id : 4509386956 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If fln[x] dx = 120. thenn =

fln[.x'] dx =120 @O0SB, n =

Options:

5
1. %



Question Number : 77 Question Id : 4509386957 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The area of the region under the curve y = [sinx — cosx/|,0 < x o and above x-axis, 15 (in

square units)

y = |sinx — cosx[,0 < x _g J(80 1508 DA -80S &) (2P0 T30

O
=

(665 rAOS)

Options :
_— 2+ 2

22 =1
2. %

2(v2-1)
3. ¢

2(vV2+1
4, % (w * :J

Question Number : 78 Question Id : 4509386958 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The differential equation formed by eliminating ¢ and b from the equation y = ae® + bxe® is
y = ae® + bre®® SDEGH0 S 0,5 OF STDHOD FORODINS DEIB 95
eEBEI

Options :



y'—4y'—4y =10

1. %

}r” + .:1._'51" — 411 —
2. %

y'+4y' +4y =0
3. %

}r” =i .:1.}1’ - xll.ql_r —
4. &

Question Number : 79 Question Id : 4509386959 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Ify= a3e?  is the general solution of a differential equation, where @ and ¢ are atbitrary

constants and 5 15 a fixed constant. then the order of differential equation 15

¢ DO ¢ o) OITGYNYE VToseN OO b BIE VG V080 R
20 )000B y = ade? * 9TH 28 OO dDEBEI0 TE) T TG

9ONE & 9930 dan&Bea0 B8y HONTE0

Options :
1
1.+
2
2. ®

L]

3. %



Question Number : 80 Question Id : 4509386960 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The solution of differential equation (x + 2y?3) g =V is
(x + 21?3)— =y 093 &350 SMESETIE 5
Options :

x = y(2xy + ¢)

1. %
x = y(y* +¢)
2. ¢
y=x(x*+c)
3. %
yt
xy=—==
w 2
4, %
Physics
SectionId: 450938148
Section Number : 2
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Number of Questions : 40
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Clear Response:
Maximum Instruction Time : 0
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Question Number : 81 Question Id : 4509386961 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The time petiod of revolution of a satellite (T) around the earth depends on the radius of the circular

otbit (R). mass of the earth (M) and universal gravitational constant (G). The expression for T, using

dimensional analysis 1s (K is constant of proportionality)
2,8 Gr|ffara 2578 COET BEHES HEIN 500 (T) @8, 2700 (355073 (M),
N85 Hthds Yoo (6) HBAM SyTSE 85 Ay Ty ®) 00

STEHAY, DA0H I T EDFIAAS T T8 HDEGen (K @dare

VTr0%0)
Options:
R2
K |——
GM
1. ®
i R
GM
2. %
R3
K |—
GM

3.¢



GM?

Question Number : 82 Question Id : 4509386962 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

An object projected upwards from the foot of a tower. The object crosses the top of the tower twice

with an mterval of 8 s and the object reaches foot after 16 s. The height of the tower 1s

[g=10ms™?]

28 0 D 2P0 H0G 28 SN VI D AT, 8 N0

= T b ¢ = ¢ b
DT, 8 VEQ NTWN0S B Tre8 QD echih PR, 16 VINS DS,

23 £630 ) [g = 10 ms 7]
Options:

220 m

1. #

240 m

640 m

80 m
W

Question Number : 83 Question Id : 4509386963 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The centripetal acceleration of a particle in uniform circular motion is 18 ms™2. If the radius of the

circular path is 50 cm, the change in velocity of the particle in a time of % sis
D68 9T DOS0S tred) 2.8 §80 T, ®8)T0L 5660 18 ms 2 SYTTE

5740 GRS 75030 50 em QNN T s TOILIBS §890 G} S0 R Srth)

Options :

Question Number : 84 Question Id : 4509386964 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The horizontal range of a projectile projected at an angle of 45° with the horizontal is 50 m. The

height of the projectile when its horizontal displacement 1s 20 m 15

§ o arosTas 45°580 Do) HER0 Tohads 28 (NSH80 Sax

ey

") -

T0eE aP32) 50 m. (3 D50 § €92 Meiroedd F(25080 20 m S ) Y
Options :

18 m



36m

3 ¢ 12 m

4 % 24m

Question Number : 85 Question Id : 4509386965 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Abody of mass 1.5 kg is moving towards south with a uniform velocity of 8 ms™. A force of 6 N

s applied to the body towards east. The displacement of the body 3 seconds after the application

of the force 15

10555073 15 kg (10 2.8 5oy 8 ms ™! DEO& Fifod 98 €0 FoyBo L0 B. &8
S0 6N e drdh) OIS DB, 2e7Q) (HTFA0DS 35 SHTe,
3:0:) oo

Options:

24 m
1. #

30 m
2.

18 m

42 m



Question Number : 86 Question Id : 4509386966 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
1y ' . B ; . .
The upper (;) of an inclined plane 15 smooth and the remaming lower part is rough with

coefficient of friction . If a body starting from rest at the top of the inclined plane will again

come to rest af the bottom of the plane. then the angle of inclination of the inclined plane is

2,4 700 030 TE) D (i) 5 2710 ey TR, RO Bthad 2P0 K8 ek

€59 8. 15080 27150 Y. (1838 4080 DO py. a7 00 3 DD 2.8 5eDa)ed
Do DB D08 SBOS @b aren de0 (§oH8 DIN6E BBN Do VNS I,

TENSO0 G0, T 50

Options:

Sin * [(n i 1) pk]

1. %

a5
2. % "

Tan™ [(n. i 1) Ll;;]
3. %



Question Number : 87 Question Id : 4509386967 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A spring of spring constant 200 Nm™ is initially stretched by 10 cm from the unstretched position.

The work to be done to stretch the spring further by another 10 cm 1

200 N [2)00 207050 ffey 2.8 (200 & Senéd OO Fdo D0 10 em
AT, (20t & @SS0m HTE 10 em PHOONEIS TODHIO N DA

Options:

2d

1.4

Question Number : 88 Question Id : 4509386968 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A ball falls freely from rest from a height of 6.25 m on to a hard herizontal surface. If the ball

reaches a height of 81 cm after second bounce from the surface. the coefficient of restitution 1s

2,5 208 QTN VS OB VI 6.25m 8 0B 2.8 GYdae § 32 eiroe

el

$00 28 DDA, B0 DHOG Tocka) 77O 28 DA edared 206 TO )€Y

[

81 cm AN, (eI (Heaso



Options :

3
1. %

0.45
2. %
3 % 1S
4. & L

Question Number : 89 Question Id : 4509386969 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The masses of a solid cylinder and a hollow cylinder are 3.2 kg and 1.6 kg respectively. Both the
solid cylinder and hollow cylinder start from rest from the top of an wclined plane and roll down
without slipping. If both the cylinders have equal radius and the acceleration of the solid cylinder

is 4 ms™2, the acceleration of the hollow cylinder is

2,8 0% AP0 SHBAM 2.8 B 0 TN, (SS5T-HEN SET 3.2 ke SO
1.6 kg. 5068 0 SdBAD e A0 BT 2.8 Ten $003 Do) 98 HOd
806%, dSom SO, Both araren 23 FrTR) $08 G0k o

0 B0 ¢ 25690 4 ms™2 @O0 &N A € 58580

Options :

2 ms ™2
1. #

9 ms~?



6 ms ™2

3 ms™?

Question Number : 90 Question Id : 4509386970 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A solid sphere of mass 50 kg and radius 20 cm is rotating about 1ts diameter with an angular velocity

of 420 tpm. The angular momentum of the sphere 1s
163635073 50 kg SO0 F5ar0 20 em H6) 268 50ed (0 TR 7500 HGOM 420 1pm
50l Friod 12550690 Tokwene) &. o G308 SEa% (S0

Options :

8.8 Js

70.4 Js

17.6Js

L
h
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Question Number : 91 Question Id : 4509386971 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
- . ' p P " = " ' ' ' . n
The mass of a particle is 1 kg and it is moving along x—axis. The period of its oscillation is = . Its

potential energy at a displacement of 0.2 m 1s

25 5200 Q308 (035073 1kg oDB0M) ©8 -850 302G O0HNN)D. 8 880

d

%) Bomrdds 200 g @aNd 02 m PR2040 SO o § ez 48
Options:

0.24]
1. %

0.48 ]

0.32]
3. %

0.16]

Question Number : 92 Question Id : 4509386972 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The potential energy of a particle of mass 10 g as a function of displacement x is (50 x% + 100)].

The frequency of oscillation is
| 5090 x |OHOM 10 g (D503 (1> 2,8 §690 TRE) W3z 45 (50 2 + 100))
OB GO s Yed:0.

Options:

10

S—l
T
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Question Number : 93 Question Id : 4509386973 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the time period of revolution of a satellite 1s T. then 1ts kinetic energy 1s proportional to

2,8 GA|HaR0 812508 FOO T, NS ) (182 48 9D ST DTS IO

Options :

T—l
1. %

T2
2. %

T—3
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Question Number : 94 Question Id : 4509386974 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The elastic energy stored per unit volume in terms of longitudinal strain "¢’ and Young's modulus
Y'is
D508 DINBITEISNIN A0S Gd) VTS, 9HTYs e e DI
ohofi hedo Y dred

Options :

Ye?

2
- |
—Ye
2
2Ye?

2Ye

Question Number : 95 Question Id : 4509386975 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A large tank filled with water to a height ‘h’ 1s to be emptied through a small hole at the bottom,

The ratio of the time taken for the level to fall from ‘h to E and that taken for the level to fall from

I’hF ‘
—to‘0’1s
2

B D) S8 IS 0NAS 2.8 DG STD, T achibardo SO de .8 D)

W o 'h. W
30150 TITr 9 BohSOR G0, DR B A Hok F )

(- . .
HAFHEE 235 serRs HBA ABHE0 =38 D08 07 5 HAFIHE 3

578 aicds e

Options :

V2 -1
1. ¢

1

V2
2. %

V2
3. %

1

V2 -1

4. %

Question Number : 96 Question Id : 4509386976 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A slab consists of two identical plates of copper and brass. The free face of the brass is at 0°C and
that of copper at 100 °C. If the thermal conductivities of brass and copper are m the ratio 1:4. then

the temperature of interface is

2,8 B3] U D000 2BAAS T Do N8 duired doge §OR &od. e
GR0E) WL 0°C G DA T VT )NDO 100°C 5 8e). DG
B0 TR Gadarirse 10 14 ASS ), 8 Boch HOEO D5 e Gt
DTH0 Oy el fie

Options :

20°C
1. %

40° C

60° C

80° C
4.+

Question Number : 97 Question Id : 4509386977 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A monoatomic gas of #-moles 1s heated from temperature T; to T, under two difterent conditions.

(1) at constant volume and (11) at constant pressure. The change 1n infernal energy of the gas 1s
IS dog ‘v’ 10 MEDCIFERTAEDID () VO NINBPER0 DO (i)
HchS0 T Both 3058 HBRMOS T, Do T, & HSH IATR, 6
ALY BOSHE 155D SrE)



Options :

More when heated at constant volume

D8 BNNBATRI0 DD BB DO DEV

1. %
More when heated at constant pressure
VE DSOS A TIIHED B0
2. ®
Same in both the cases
BOcH HOVAES T 3T
3.4
Zero in both the cases
Jelelat HEVEB S ST° F°:350
4.

Question Number : 98 Question Id : 4509386978 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In a Carnot engine, when the temperatures are T, = 0°C and T; = 200°C. its efficiency is 7, and

when the temperatures are T; = 0°C and T, = —200°C. its efficiency is 1,. Then the value of E—l

18

Gfiiden T, = 0°C DA T, = 200°C )N 28 8 o 000 T,

(5% ¢ ny: Gl ffeben T, = 0°C OO Ty = —200°C YN 1)ch R (8 77, NS

m_
2

Options :

1.4



0.58

0.73
2. %

0.64
3. %

0.42
4. %

Question Number : 99 Question Id : 4509386979 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Heat energy absorbed by a system going through the cyclic process shown in the figure 1s
HR0ES Br DO 19805 (HEADE 2.8 555896 HBT R, 698 1690 TV
€oa) 35

Y-axis

Options :

1077 |
1. %



1047 |

2. %

10%x ]
3.¢

1073m
4, %

Question Number : 100 Question Id : 4509386980 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A poly atomic gas with n degrees of freedom has a mean kinetic energy per molecule given by
(if N 15 Avogadro’s number)
n D5B0(6 HOMESREN 0 2TVNGTFENE PO VA0S 28 EN)F HifED

(i3S (V - 9um| & Sowy)

Options:
nKT
N
1. %
nKT
2N
2. %
nKT
2



Question Number : 101 Question Id : 4509386981 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A car sounding a horn of frequency 1000 Hz passes a stationary observer. The ratio of frequencies

of the horn noted by the observer before and after passing of the car 1s 11: 9. The speed of car is

(Speed of sound v = 340 ms™)

2,8 58 1000 370, © TS:e)950 & FES (FFAP, DTHH0S K 28 HBIOHD
T 39,00, O D005 THTAE 0D HBAD TS Sl S
DNGS G Ty Yo A 11:9. WS, S 0 o
(¢3S0 v =340 ms™)

Options :

34 ms!

1.

17 ms’

170 ms™!

340 ms™



Question Number : 102 Question Id : 4509386982 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A ray of light travels from an optically denser to rarer medium. The critical angle for the two media

15 ‘C". The maximum possible deviation of the ray will be

2,8 508 §58:50 2.8 ST APO[BBE OrdEan D0 2.8 DEFSE ATSE0e V8
DOITE0 TYOO. OS0TSS 0B 580 ¢, aN & 506 §easN) &P0D (16s)

ADON0

Options:
T
T
2
1. %
ZEC
2. %
7w — 26
3. ¢
m—C
4, ®

Question Number : 103 Question Id : 4509386983 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The angle of polarisation for a medium with respect to air 1s 60°. The critical angle of this medium

with respect to air 1s

) QSF38ai G308 398 Eas 60° 0N, TE) (3gals Oirds 0B Seasin

Options :



Sin~14/3

1. #

Tau_lx/g
2. ®

Cos 143
3. ®

1

Sin~t'—

4, & VE

Question Number : 104 Question Id : 4509386984 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A point charge “q’ coulomb 15 placed at the centre of a cube of side length ‘L. Then the electric

flux linked with each face of the cube 1s

220 T o) 2.8 N0 5000 S& Dochidr 8550 ‘g foeorod Howakod. &

0 G308, 2525800 D0k FENIT DCDLS BDTT0

Options :
9
€o

1. %

q
ol =
2. ®



612 €,
®
q
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Question Number : 105 Question Id : 4509386985 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Three equal electric charges of each charge ‘q’ are placed at the vertices of an equilateral triangle
of side of length °L’. then potential energy of the system is
2828 ANITRF0 ‘g 110 DI Dl SIFTOD L 2DBOME 2.8 dedeeT

BB F00O 3 JOTE. 8 3530 TRE), VBBHS Desd

Options :
1 3q?
4me, L
1.4
1 g*
4me, 3L
2. %
1 2q°
4me, 3L
3. %

4, ®



2

4me, L

Question Number : 106 Question Id : 4509386986 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Eight drops of mercury of equal radii and possessing equal charge combine to form a big drop. If
the capacity of each drop 1s *C". then capacity of the big drop 1s
2528) TR M BRF0 ) Mo FEPE0 0 VA P8 Dochajen
£ 28 20 Do NG IT oW, 2525 Do) Thg) Achse § Db ¢ wond
26 Doche BT DN § oyed

Options :

83C

16C

Question Number : 107 Question Id : 4509386987 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Five equal resistances each ‘2R’ are connected as shown in figure. A battery of V" volts connected

between A and B. Then current through FC 1s
2,528,8 R QBTN 10 ST 5 AB PO D0 PR $O7H. AHBOMN

B DO © D8 V' Q) © 28 EONB FC i 507 ISar0T DS [HFT0

i

Options :
\'
1.+ 2
v
8R
2. %
A
3. % H
v
2R
4, %

Question Number : 108 Question Id : 4509386988 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



A lamp 1s rated at 240V, 60W. When in use the resistance of the filament of the lamyp 15 20 times

that of cold filament. The resistance of the lamp when not in use is

28 DS e 240V, 60W 030D Sorch. ION &)ych & wen) gy
00 AT, B GILID TGS STy 20 T, BanS FEE0d
B3y & DOF0E) TBE, BN

Options:

54 O
1. %

60 ()

50 0
3. %

48 ()
4.

Question Number : 109 Question Id : 4509386989 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



When an electron placed m a uniform magnetic field 1s accelerated from rest through a potential
difference V;. it experiences a force F. If the potential difference is changed to V5. the force

experienced by the electron m same magnetic field is 2F, then the ratio of potential differences
Vz/vl 15

2,8 V508 ©90DHR08 3 (B0S G0N JO[TR & ¥, SLNOHS 50 [HAFAOD
DTV N0k ¢ sErE HOTRYD O[T 2 50 200 F. oF 3dod
FHJONO TR 1, § a0 0 JOFR 3§69 200 2F 90N OO

Fo) D& V2
PAALORANRLE /Vl
Options:
7. |

1. %

1:4

4-1
3.
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Question Number : 110 Question Id : 4509386990 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A rectangular loop of sides 25 cm and 10 cm carrying a current of 10 A 15 placed with its longer
side parallel to a long straight conductor 10 cm apart carrying current 25 A. The net force on the
loop 1

25 cm 2B 10 em 2herenm e A3IMSSY Se0Hho Hom 10 A Ahid

DS00. B DE 2R HSToSS0T 10em TGOS 25 A DS [HFTO o)

300) 0 AR FoTTR) GO, 8 HOON0 D DO 200

Options :

625X 10™° N
1.9

55x 107> N

375X 10N

8.75 x 10711 N

Question Number : 111 Question Id : 4509386991 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the vertical component of the earth’s magnetic field 1s 0.45 G at a location, and angle of dip 1s

60°. then magnetic field of earth in that location 1s

2,8 [POB0ES @550 60°, AP0, 0853 (¢ ens) ©050 045 G HONE &
oS0 Areohar, 083 607

Options :

1. %



052 G
2. ¢

0.3 G
3. %

-
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Question Number : 112 Question Id : 4509386992 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Xand Y are two circuits having coefficient of mutual inductance 3 mH and resistances 10 Q and
4 Q respectively. To have induced current 60 X 10™* A in circuit Y, the amount of current to be

changed in circuit X in 0.02 sec is

X 0050 Y 97 Boch 00T 95038 (8 (850 3 mH 605D 763 A0 e
ST 10 Q HOGK 4 €. Y 300D0¢ 60 x 107 A (20 DS SO0,

0.02 88 OF X S00H0S’ X78) TOTE I DS (HaTar0?
Options :

1.6 A
1. %

0.16 A
2.

0.32ZA



Question Number : 113 Question Id : 4509386993 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Two figures are shown as Fig. A and Fig. B. The time constant of Fig. A 1s 7, and time constant of
Fig. B is 75. Then
G0CH DEPe, DE0 4 BN 0 BTP LraGw. 980 A GB08) SFONT050 1,
0050 HE0 B T SFONT050 15 AN

2H
E? [ﬂ\’v‘l'"
Ay T L J‘
05F
< : 4 =
1205 4 005 LS Lo
< ' 100
Fig.A (630 A) Fig.B (&0 R)

Options :

1
Ta =4S and Tg = 5s

1
TAZES;)D@MTB — 5§
1.4

1
Ta = ES and g ZES
1 1
Ta =758 sDBO 15 =g*s



Tp = 4sand g = bs

Ta = 45 DBC 15 = 5s

3. %
1
Ta— ES and g = 10s
1
Ta =38 OO g = 10s
4. %

Question Number : 114 Question Id : 4509386994 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following produces electromagnetic waves

& 1808 TS D DEDSTTONY06h SHBOTPO Eeh I TPOW

Options:

Stationary charges

DT VB GO eI3F°eN

1. ®
Charges in uniform motion

- DEBE 0SS HOT es3F e
Accelerating charges

- €8 ¢80 O D) &3 esTFen



Stationary magnet

DTV &) AR 0550

Question Number : 115 Question Id : 4509386995 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Ablue lamp emits light of mean wavelength 4500A. The lamp is rated at 150 W and 8% efficiency.

Then the number of photons are emitted by the lamp per second

QOG0 B0 45004 o> STd $BoiEds0 o ToB SBENM0H. & o
B5E300 150 W SO ¢35 ¢ 8% oSS 2.8 D& 5006 & B0 T8 IS
FEFQ © DO

Options :

2717 ¥ 1078
1.

{07 B0 | i

27.17 % 10*3

54 x 1016

Question Number : 116 Question Id : 4509386996 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The ground state energy of hydrogen atom 1s —13.6 eV. The potential enetgy of the electron in this

state 1

TEZS NOSTENYS 2rrow 3§ —13.6 eV @ond & TS JOFS T

a_

e 38 Dene)

Options :

=136V

13.6 eV

Question Number : 117 Question Id : 4509386997 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the energy released per fission of a 29325 | nucleus 1s 200 MeV. the energy released m the fission
of 0.1 kg of 29325 U in kilowatt - hour 1s.
§ 235 3080008 & ek ey 48 oy B30
& s U S0050 2 ed & e D) 35 e 200 MeV. 0.1kg 9 U

D8 ToA, DS T3 48 Dend &5 6 955 &'

Options:

22.8 X 10°
1. ¢



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In a common emitter amplifier. a.c. current gain is 40 and nput resistance 15 2 kQ. The load

resistance 15 given as 10 kQ. Then the voltage gain is

W

CE D508 (L7190 SGE0mT $Q TANIWD, 2. ¢. PaTT8 Dens 40, o7
DFG0 Denad 10k HBOD AT ABLI0 Ve 2kQ DS, 5950 4,82 98
RN

Options:

52

200

Question Number : 120 Question Id : 4509387000 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

An information signal of frequency 10 kHz is modulated with a carrier wave of frequency

3.61 MHz. The upper side and lower side frequencies are;

10 kHz 232 5)edsa0 ORR 0T ed0mrR)) B3P 3.61 MHz 2Fede s)ndgedd ffe)
o8 00 S BAR DOHAANE. Do) aDBOH EDd ) § rede sYdgal)

) eI



Options :

3650 kHz and 3590 kHz

1. %

3620 kHz and 3600 kHz
2.9

3610 kHz and 3580 kHz
3. %

3600 kHz and 3620 kHz
4, %
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Question Number : 121 Question Id : 4509387001 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The energy of third orbit of Li*" ion (in J) is

LiZ* 003ra 5@ Srchs 88 ¢ 38 0 o)

Options :

—2.18 x 10718
1. ¢

—6.54 x 10718
2. ®

= 7 et
3. ®

e e ||
4,

Question Number : 122 Question Id : 4509387002 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The number of d electrons in Fe is equal to which of the following?

1.  Total number of ‘s’ electrons of Mg

1. Total number of ‘p” electrons of Cl

ui.  Total number of ‘p’ electrons of Ne

The correct option is
Fe S d TS © Soms 1506 F¢38 00ra50?
. Mg S INB0 s* IOT © Hows
i, 1SR TNB0 P IOTE © Hops
iii. NeSQ IND0 P IOITS © dows
83D 2ADNE0

Options :



1. 11 only

i, il o3B30
1. % )
i1. 111 only
i, 1ii ST Eh 33
2. ® =
1. 111 only
i, 1ii o307(€H o)
i, ii. iii
4, %

Question Number : 123 Question Id : 4509387003 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The correct order of atomic radii of given elements 1s

Q03 5N oNFEITE) DBITEN aFFr T DO (BoD0

Options :
B <Be < Mg

1.+

Mg<Be<B

Be <B < Mg



Question Number : 124 Question Id : 4509387004 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Which of the following orders are correct regarding their covalent character?
1. KF<KI
. LiF <KF
i, SnCl < SnCly
iv. NaCl<CuCl
The correct option is
1808 1E5r0S 573 eI ©F £0 (5730 HOTDHD DD?
i. KF<KI
1. LiF <KF
u,  SnCl < SnCly
iv. NaCl<CuCl
A8 D80
Options:
1. 11. 111 only

i, 1i, iii ST €h a0

1. %

ii. 11i. 1v only

i, ii. iv e30°[ €53

1, 111, 1v only

i, iii. iv o3| €53
3.4



1. 11. 1iv only

i, i1 iv o377 €55
4, ® =

Question Number : 125 Question Id : 4509387005 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Observe the following sets

Order Property
1. NHz = H0 > 802 Bond angle
i1, H;0 =NH; = H>S Dipole moment
m. | Na»=0>Hp Bond enthalpy
iv. |[NO">02>0%" Bond order
Which of the above sets are correctly matched?
806 e HBID0TH0s
15200 G380
i | NH;>H0>S0; 200 8§60
ii. |HO=NH;>H;S OGN 127050
. | Na=Or=H 200 ol}ogmf) 3
iv. |NO™>03>05" 206 1800

2 o) e DB 2365 (Hrdeda?

Options :

1. i1, 1v only

=

i. ii. 1V 607 €5 o0

1. %




ii. il o337 B30

1L 111, iv only

i, {ii. iv o377 €50

w/,)

1. 111, 1v only

i, iii, v o37°€H 3
4, %

Question Number : 126 Question Id : 4509387006 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The RMS velocity (uys) of one mole of an 1deal gas was measured at different temperatures and
the following graph is obtained. What is the slope (m) of straight line?
(x-axis=T(K): y-axis = (ums)”: M = molar mass; R = gas constant)
ANG a1 0 2.8 IrO 38T aM0) RMS SR, (ims) SO HB0M
508 (5 0008, AIBD aren (m) H0e? (x-axis = T(K): y-axis = (ums)s M =
rerD |(a507F: R = P05 9TP08a0)

}u’

|

m

Options:



w
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3R
3. %
3R
av M

Question Number : 127 Question Id : 4509387007 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two statements are given below

Statement I: Viscosity of liquid decreases with increase in temperature

Statement II: The units of viscosity coefficient are Pascal sec

The correct answer 1s
1508 BOh T°5ZEN Red §22T QN
58-I |5eda) ) (68, &l |ied OAD SO dhHedrod
50811 ) HerHEa508 [DeIPeTen) arPOLO VED
HETS DSPTRSHD

Options :

1.4



Both statement-I and statement-II are correct

o §D§-T sNB O a3 §H§-IT BOCHT DB

Both statement-I and statement-II are not correct

5 S5-I D BOAD 3§ S-IT BOCET DOQDIE) 56

Statement-I is correct but statement-II 1s not corract

55T OBADAE 55V @ F - ABADAE 5°¢

Statement-I 1s not correct but statement-II 1s correct

55T QBADAE 5°¢CH 5% 7§ - DO

Question Number : 128 Question Id : 4509387008 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

0.1 mole of potassium permanganate was heated at 300 °C, What is the weight (in g) of the residue?

(Mn=55uK=39u0=16u)

300 °C 56 0.1 IO © FEFAONO DTOMRE) D I TP, @edFeld (residue)

2260 (g ©F) 0eh?

Mn=55uK=39un:0=161)

Options :

14.2
1.4

1.6



Question Number : 129 Question Id : 4509387009 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Identify the correct statements from the following

I A,G iszero for A = B reaction

II. The entropy of pure crystalline solids approaches zero as the temperature approaches
absolute zero

II1. AU of a reaction can be determined using bomb calorimeter

508 TS H8T TRs® HBotiok
L  A=BudiA.60)
L 3 Hrs Gif|ed Had0TEE HE 88 50 ST oD Densd
38 NS DDA
M 28305 B8y AU & 2208 356 DEdendirhod Adonotedt s

Options :
L. IT only
I, I 5307 €5 530
1. ®
1. IIT only

L, III o537 €530



IT, I1T only

L ILIO 30785500

T 0 1

i

Question Number : 130 Question Id : 4509387010 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Observe the following reactions

AB(g) + 25 H,0(1) = ABysp,0); AH = x kJ mol™!

AB(g) +50 H,0(1) - AB(son,0); AH = y kJ mol™*

The enthalpy of dilution (AHg;)ink] mol™tis

BO& 585 HBBDOTHAD

AB(g) + 25 H,0(1) = AB(zsm,0); AH = x k] mol™"

AB(g) + 50 H,0(1) — AB(son,0); AH = y k] moel™?

DN c:)i}fjj‘*@;. (AHgzy) k] mol™ 1 © o)

Options:

(y —x)
1.+

g
- v +x)

2

X

3. %



o

Question Number : 131 Question Id : 4509387011 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
K. for the reaction.

(K
Afe) === B,(g

15 39.0. In a closed one litre flask. one mole of Ax(g) was heated to T(K). What are the
concentrations of A2(g) and Ba(g) (in mol L) respectively at equilibrium?

1(K)

Ay(g)

By(g)
56558 Ke Denad 39.0. 2.8 O8O LD PSS, 28 IO Ayfe) D T(K) H6%0 6
TP, HE R 36, Asfg) B Bag) © Mcheden (mol L106) ST J0S?

Options:

0.025, 0.975
1.

> ® 0.9753; 0.025

0.05, 0.95

0.02, 0.98

Question Number : 132 Question Id : 4509387012 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
At T(K). the solubility product of AX is 10™2%. What is the molar solubility of AX in 0.1 M HX
solution?
T(K) 56, AX [SeI00@ ©20 107, 0.1 MHX 7560 S AX 3rerd
TPSE305E oeh?

Options:

10°°
1. ®

Question Number : 133 Question Id : 4509387013 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The equation that represents ‘coal gasification’ is

'S MTPRINTAR’ & AP0 HaDEGE0

Options :

CO(e) + H,0(2) —E=—s (0, (¢) +
T catalyst 2 (&) + H(2)

CE) + HBo@—E o co@ + HBE

2.



1273 K

2C(s) + Oy(2) + 4N, (g) > 2C0(g) + 4Ny (g)
3. %
1270 K
CH;(2) + H,O(g) > CO(g) + 3H,(g)
Ni
4, %

Question Number : 134 Question Id : 4509387014 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
As per standard reduction potential values. which is the strongest reducing agent among the given

elements?

57 §aDE6n SRS NS [WFE0, F50ES SFOFOS @0
20 § 088 B850 IO

Options :

1.v Rb

Question Number : 135 Question Id : 4509387015 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
A Lewis acid “X reacts with L1AIHg in ether medium to give a highly toxic gas. *Y". Y’ when
heated with NH; gives a compound known as morganic benzene. °Y" burns i oxygen and gives
H0and ‘Z". ‘7' is
X ) 2,8 PP 800 &G0 airagod LialH: & 185 08 @8 Dayroe
TOWSY T AN, VT D NI & AT, 37T Doy @D
S8R, ¥ TOS S906 H0 H8AM Z' © D). Z' &

Options:

Basic oxide

58 &35
1. %
Acidic oxide
30 &35 5%
2. )
Amphoteric acid
AIISKCAUNES R
3. %
Neutral oxide
g es
L w SOVERG

Question Number : 136 Question Id : 4509387016 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The method for preparation of water gas 1s

L

D 5 5058 HEes

Options :



Burning coke in excess of air

85 oD @AE TS HOBOHEO

Oxidation of C in limited supply of oxygen

HBN €38 128 HBHTS € 3835580

Passing steam over hot coke

53 55 AT D3 8B Hoddo

3.+

Passing air over hot coke

56 58 AT O HoHBo

Question Number : 137 Question Id : 4509387017 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:O0

The BOD values for pure water and highly polluted water are respectively

HE A3 OO (1851 TS 5L (0T A3 BOD NI ST
Options :

=y , =
- ppm. <= 17 ppm

- =5ppm. =17 ppm

<3 ppm. =17 ppm
3.¢



<Sppm. =17 ppm

Question Number : 138 Question Id : 4509387018 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A mixture of ethyl 1odide and n-propyl 1odide 1s subjected to Wurtz reaction. The hydrocarbon

which will not be formed 1s

DEIBA IPETEIN

Options :

Butane

2075 T

Propane

BRI
2.4 =

Pentane

0TI

Hexane

FOMCATS

Question Number : 139 Question Id : 4509387019 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Which of the following alkenes does not undergo anti Markownikov addition of HB1?

806 838 O D6 HBr & QP03 SrF) 55 08080 Foccih?
Options :

Propene

(SFDS

1-Butene

1-207°5638

2-Butene

2- 237563
3. ¢

3-Methyl-2-Pentene

3-086-2-20838

Question Number : 140 Question Id : 4509387020 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What are the variables in the graph of powder diffraction pattern of a crystalline solid?

138 0SHTTTE DG ST (1) S Q) t9T°0F°e) (variables) D?

A

Options :

x-axis = 26. y-axis = intensity

x-2080=20; y- %0 =e3deh
1.



X-axis = imntensity; y-axis =26

x-28 0= gﬁrL_&f)é: }'-':"—_‘-?SAD =26
2. ®

x-axis = f: y-axis = mtensity

x-950=0: y-2950=ed|s5¢h
3. %

X-axis = mtensity; y-axis =0

x-298 O = e35¢h: y-50=10

Question Number : 141 Question Id : 4509387021 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

100 mL of % Ca (NOs}) and 200 mL of iﬂ—o KNO; solutions are mixed. What 15 the normality of
resulted solution with respect to NO; ?
100 mL % Ca (NOs), 200 mL % KNO3 |0 $000¢h 88 |80
0883 NO7 B0 )0eh?

Options:

0.1 N
1. %



0.066 N

Question Number : 142 Question Id : 4509387022 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A solution was prepared by dissolving 0.1 mole of a non-volatile solute in 0.9 moles of water. What

1s the relative lowering of vapour pressure of solution?

0.1 IFO© 28 @)D (TG0 09 IO © ABS 610D 2.8 (T
SOTFEOT. (765632 TP DS, ) ey ¢ J0e?

Options:

0.05

Question Number : 143 Question Id : 4509387023 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The standard free energy change ( A G°) for the following reaction (in kJ) at 25°C 1s
3Ca(s) + 2 Au¥(aq. IM) — 3Ca2"(agq. IM) + 2Au(s)

(gh‘en:Ezugvﬁu =+150V, Egag+ma =—2.87V, 1F=96500 C mol™)

2500 5¢) 1808 8550 (D577 D 5Ty 4§ S50 (A G°) (kT ©)

3Ca(s) + 2 Au*"(aq. IM) — 3Ca”"(aq. IM) + 2Au(s)

(afb;},aﬁ&: E;u3+mu =+ 1.50 V,Egayrm =-287V, 1F=96500C mc-l'l)
Options :

—2.53x10°
1. ¢

+2.53 x 103
B

+2.53 % 104

Question Number : 144 Question Id : 4509387024 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The rate constant of a first order reaction is 3.46 X107 s™ at 298K, What is the rate constant of

the reaction at 350 K if its activation energy is 50.1 kT mol™*? (R=8.314 T K™ mol ™)

(log 2=10.3010)

298 K o989 2.8 |0C303) BaS08 303580 Bé QUr080 3.46 X107 571, 333 G30%) &Be3ed

38 50.1 kI mol™ @0ome) 350K 4 1585 DN QU050 H0ed? (R=8.314 T K 'mol ™)

(log 2=10.3010)

Options :



0.592 s 1

0.692 571
2.

0.792 571
3.

0892571
4. %

Question Number : 145 Question Id : 4509387025 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The correct statement regarding chemisorption is

SE0HS @HT A0 B0 SODOHOD OB 3§23
Options :

It is a multilavered adsorption

A 2,8 VS WOT A0

The process is reversible in nature

& D8O B 28¢h D 227NH0S GOLNOE

The process is not specific in nature

& (HBAD D 52750 S DBRd E5BTIED



Enthalpy of adsorption is in the range of 80-240 kJ mol™?

@AFTAD0 JOTFO Y @S 80-240 kI mol !
4. &

Question Number : 146 Question Id : 4509387026 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is incorrectly matched?

1BOD a7¢3eS” DA HOTT 23ed DOHDBTEN?
Options:

Multi molecular colloid — Sg

2270 e9£0ed 5o - Sg

1. %
Macro molecular colloid - enzyme
2o £ §PONE — JOBa®)
2. %
As283 sol — positively charged sol
3 ¥ A28z F:"J"’E:J — {i}ﬁ” 5‘%\% @""5
Starch sol — Iyophilic sol
70y O —oTBrOE O
4, %

Question Number : 147 Question Id : 4509387027 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



= O = _
Impure silver ore + CN + H,O —2 » [X] +OH
[X] + Zn =— [Y*™ + Ag (pure)
The co-ordination numbers of the metals in [X]. [Y] are respectively
©0090 vo B ordy + CN + H,)0 Lﬁ- [X] +OH

[X] +Zn — [Y] + Ag (£5)

[X]. [Y] O S5 8560800 SoDEen ST

Options :
3 4
1. %
5 % 1 4
4 2
3. %
2 4
4. &

Question Number : 148 Question Id : 4509387028 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
In the reaction of sulphur with concentrated sulphuric acid. the oxidised product 1s X and reduced

product 1s Y. X and Y are respectively
3038, T Her)s05 eDoe Ny DS, ©8)8dn &B)810 X HBo
§ o588 &I 0 Y. X, Y 0 ST

Options :

1. %



503, SO2

SO2. SO,
2. %

SOa. HaS
3. #

S0z HyO
4, %

Question Number : 149 Question Id : 4509387029 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following lanthanoids have [Xe] 4f* 5d 6 configuration in their ground state?

(x=1-14)

Srasd (506 erodTh OF 9 [Xe] 4754 652 Drrsdon 0 &och?

(x=1-14)

Options:

Pr. Tb. Yb

Ce.YDb. Lu

Ce.Gd. Lu
3. %



Gd. Tb. Lu

Question Number : 150 Question Id : 4509387030 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

How many of the following ligands are stronger than H>O?

$%~,Br~,C,037,CN~,en, NH;,CO,OH™

808 Brod &S Hi0 50T OSSN )2

$2=,Br~,C,037,CN~, en, NH;, CO,OH™

Options:
1. % 5
3
2. %
4
3.¢
4. %

Question Number : 151 Question Id : 4509387031 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The common monomer for both Terylene and glyptal 1s

BOODS B BardS oA S 0T Irnd

Options:

1.



\'.f)

HD/\//\DH
2. ®

HO\/\

CeHs
3. %
/\/NHZ

4 % H-N

Question Number : 152 Question Id : 4509387032 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following structure of proteins represents its constitution?

1808 ) 18¥¢3& © 02690 & HOMNETR) AFDR0E?
Options :

Secondary structure

0808 dogo

1. %

QI.IEI fernary structure

5563338 doeo
2. %



Primary structure

[ 2008 Qo800
3.¢

Tertiary structure

28018 dorso

Question Number : 153 Question Id : 4509387033 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Carrot and curd are sources for the vitamins respectively

525¢) sDOAN DEHD ) DEIDIEY BT Eoeh )€ TP eN?

Options:

A. B2
1.+

A Bi
2. ®

E. Pyridoxine
E, 208830

3. %
E. Riboflavin
E. BS TR
4. %

Question Number : 154 Question Id : 4509387034 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

List-I (Drug) List-II (Use)
A. | Veronal [ | Antihistamine
B. | Morphine II. | Hypnotic
C. | Seldane III. | Analgesic
IV. | Antidepressant

Correct answer 15

1808 3R 2IGH0G

-1 (HOD) OQ-II (&HATI0)
A | 38> L | 05r0t3erains
B. | 3r8)® IL | 2re¥y ¢35
C. |03 I | Jor® 228

IV. | Oiroe3&NR06

QOADN VTR0

Options:

A-TIV, B-II, C-I

A-IV, B-L. C-II

A-II. B-III C-I

A-II. B-IV. C-III



Question Number : 155 Question Id : 4509387035 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The major products X and Y respectively from the following reactions are

NaOEt Br (1))Mg/dry ether
Y -— - -
(major) (11)H,0

1806 B30 DEIT [T Eeed 17°) 00 X SO Y ) S

_ NaOEt Br ()Mg/ gpé &t
I - » X
Options:
OC,Hs

1.4

2. #

/\/OH /\
3. # L

P NN e,
4, % L

Question Number : 156 Question Id : 4509387036 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An 1somer of CsHi on reaction with Bry / light gave only one isomer CsHyiBr (X), Reaction of X
with AgNO; gave Y as major product. What 15 Y?
CsHi QR0 28 ArC39550 Bry / 508 9856 CsHyBr (X) &3 2.8 28 rdyasd)

3000, AN & X 869 B85S Y D50 G659 01 8306, ¥ 67

Options :

(

>N
ONO

ONO
4\/ o

1. %

2. %

. %
4.«
Question Number : 157 Question Id : 4509387037 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What are the major products X and Y respectively in the following reactions?
1808 BB 10T €69 107100 X s0B05D Y €0 ST D?
(CH;3)3CONa + CH3CH:Br — X
(CH3)3CBr + CH3CH2ONa — Y

Options :

CH>=CH». (CH3)3COCH2CHz3

1. %
(CH3):COCH2CH3. (CH3)3COCH20Hs3
2. %
CH»=CHz:. (CH3):C = CH2
3. %
(CH3);COCH>CHs. (CHz)C=CH;
4, &

Question Number : 158 Question Id : 4509387038 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Match the following reagents with the products obtained when they reacted with a ketone,

List-I List-1I

A, | CHsNENH: | L | Schiff base

B. | NH:OH II. | Hydrazone

C. | C¢HsNH; IIL. | Oxime

IV. | Phenyl hydrazone

Correct answer i

808 S8, @9 850 8 1383 20D OB GO 28IGH08

ORI ORI

A |CHNHNHy | I |95 2%

B.|NHOH | IL | 3Hc8®

C.|CeHsNH, | IIL | €33 360

IV. | 936 P GE

DO B2

Options:

A-IV, B-III. C-I
1.+

A-TV. B-II. C-I
2. %

A-IL B-III. C-IV
3. %

A-II, B-IV. C-1I1
4. %

Question Number : 159 Question Id : 4509387039 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

What are X and Y respectively in the following reactions?

1808 BB X 08050 Y €0 SEDM 2?

C
@/ D ¥ CHO ¢ ycoen, _
—_— - (Major product)
OH. 293K Y

(D57 5680 0)
Options :
(1) SOChL, (1) HaNi; QC_CH:C
| |
O CH,
1. %
(1) SOCl, (1) H,Ni ; QCH:CH—C
|
2. % 2
(1) C;H;OH/H", (1) DiBAL -H (in) H,O ; @—CH:CH—C
I
0
3.+
(1) C;H;OH/H", (1) DiBAL -H (i11) H,0; QC—CH:C
| |
0 CHa
4, #

Question Number : 160 Question Id : 4509387040 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arrange the following i decreasing order of their basicity
808 T3 8 T80 7] 5590 ¢ @:8)08
NH,

HyC
H,CO

Options:

NH,



